OWEFt 52—

(1E¥fEdH1=Y)

MERX 7 ==Xy o E Bl MEE
£HEEH 1,640 A 1,670 M
TIF1LTAR—Y
T AEs 1./ 2E{E A 820 M 840 M
S 1/ 4EERA 410 M 420 [
FIFaT7AR—y | EEER 5140 H 5230 F
LS ZEERT 515 |1/ 2@E R 2,570 M 2,620 M
=) 1,/ AEER 1,290 1310 @
BEKE 300 M 310 M
ﬂ’gj{&g 100 [ 100 M
Egtg—-ﬁu;gtg-% 300 310 [
OE T LA B Br k5K E R MER
MER X 7 ==X v] o E Bl MEE
2 4m - =D 155 5,030 A 5,120 M
SRR R FDHIODEIC 2,510 [ 2,550 [
OETWABET=Xa—Fk
MEER X 5 ==X v R E Eil %
F=—Ra—hk =40] 510 [ 520 M
(1EIZDF) ] 1,020 M 1,040 M

BLWEbhEk £EFERERAR—YIE 0285-56-9170




